Tilfejelse op til 10 (tilfejelse af 1)
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Dato: ___ Score:____
4+1= 6+1=
5+41= 10+1 =
7+1= 2+1=
6+1= 541=
1+1= 6+1=
2+1 = 4+1=
§+1 = 5+1=
6+1= 8+1=
2+1= 10+1 =
5+41= 8+1 =
7+1= 3+1=
4+1= 1+1=
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Tilfejelse op til 10 (tilfejelse af 1)

6+1=7

3+1=4

5+1=6

7+1=28

3+1=4

10+1 =11

S5+1=6

10+1=11

2+1=3

8+1=9

4+1=5

2+1=3

10+1 =11

2+1=3

I1+1=2

9+1=10

5+1=6

2+1=3

7+1=28

3+1=4

5+1=6

9+1=10

3+1=4

5+1=6

l+1=2

2+1=3

www.snowmath.com

4+1=>5

S5+1=6

7+1=28

6+1=7

1+1=2

2+1=3

8+1=9

6+1=7

2+1=3

5+1=6

7+1=28

4+1=>5

Dato: Score:

6+1=7

10+1=11

2+1=3

5+1=6

6+1=7

4+1=5

5+1=6

8+1=9

10+1 =11

8+1=9

3+1=4

1+1=2
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